[BFDE 7')— 65keik] ATyk  1EE 2EIE R R
1 4 M F OEE ( B#H BRI E R )
ST 139
2 x B A 2 (EBRFLRYLITITT 10-0
&= & A P 27777 ST 015
10-0 ,
3 BRI B TAC ) VT 101
6-0
4 ALK B ( LBEEBLZY) Y THe ) —
5 TR & (ER/FLRAY) VT 757 )
PP 600
B ) 5-7
6 HOE B O ( HEAY 3E 4 )
VT 054
7 % B’ I # ( BE 7 77 ) 10-0
SP 444
_ B ‘ 16-6
8 = F M OF (2ZERLZRYYITHE )
ST 327
5 i \ \ 0-11
9 2 B 2 (B=RFLRA)VVTI757)
ST 109
\ 10-0
10 B B N Rk ( EmMERLLZRY VT ) ST 310
0-10
11 E K EFREE ( 20779 T7REE )
SR TEE;
4 ALK B ( LBELZY YT )
PO 600
B ) 0-7
6 HE B O ( A 38 4 )




